BETLE&EZZ— VESAFRIET — LA
BT~ DE= 2 —T—Ls
MS112

REX =17V

REWORK |x{gdy

REAICHT EZF—LEHDBEETHRCLLEL

AORI—FPSBEHOBEER JXBOEEARELTBVELTET
( musamgse =4 —HEMGF 7R HIEE=S—1>F | BAE=S—BE )
o/ —EEICEHTED EZS—BHEICHIBHTARONOHER IR 1 3_32
FUTRDBNTNT, 75X75mm,  100X100mm ! 2"’8'(9
E=5—HEBT 5y FTHEE | (ESA FRAR A7

COERBBEVLFVEEEHCHYBES CEVET,
LERIE. D | Y (ARAL) ABEAATLES MEICFETNERETETT.

LU RS - BRYU T OFRBICE BRI OV TR SV ERADT HECBELEL TR
FTHICTERSEEVETLOBBENALEITFET,

HIARR - RUMATARR. BLUVRKEICKDEH - BECDNTII.
—VDRIABZEVWERBADT, TTHESLESL,

cREMETNICEEL. REPICERCHBELCFIEMITIEIBEOEVLSIEETE.
CREBILHEO T THBERAR-REBRELTILE,
cHUMITIRZ2BUETITS CL2M<SHRBENVLLET,

(D) BEPETTEIHBHIC, TN TORIRBIAE o~ 50 TR ST SR I TR L E LIS, SEEL OREORIBEE THBL A DY B EARUNTOIER. BBREOBEFIILANTSEEL,
e, - _ ) e " . ; s — —ns,
A\ B ERTAL BV RS OB FRESRIE AR L ST BNABUET, CRERCOUTHBLRARERLEBEE, EEEPHL, BIA<ONEEE - EREEICTHK
Y AT BB DI I > ORI € <o, FBEVAROMI T £ D B A B E 3 £ R T BB BYE T, <EE
AR BB BE AR R, AUGS BT BADREEFo T AT, I AN

- SREDRRBLOTNCOAMD/ \— For7ORERE DV K— 3 MEBRICHABL S LTIEL,
REENFRINI RV EEAL RV EARLTRHSD T ERVKIICLTREL

BRI ERHAAE DES T HEREDHH EREHSENTOET, I BB TROFEOBA EVERICRELTEL,

RaCHTOHMNEDY © 0422-38-4912 =H958010:0018:00 (- A-471 <)

LA RIS HOHEPRRROB AL TIRDICH o1, HESLDEHDRIEBES T, - e .
RPEE: 75y MARSIERT BTetb. RINI (D75 L% 3 nABI0)F 195 LR RS TT AZ—FSFF kL4t  T180-0006 RREEEEFHHE2-2-2 21 X AHKEESF
https://starplatinum.co.jp/

6 8 CAUTION: DO NOT /oosen these two screws
counter-clockwise, or it may cause damage to the product.

If the arm drops, tighten the two screws as shown.

9 Note: If the display does
not stop at your desired
position, tighten the
screws as shown.

Fem ey




& I

>
— M-A (x4)
@ - = !'@!l M4x12

D (x) E oD F oM G oM H oD '

M8 M-B (x4)
M5x12
@ m D m m L
Joa K (x2) L x1) M (x1) N (x1) O (x1) P (x1) M-C (x4
A B oD B0 Moo M8x35 M8x60 3mm 4mm 5mm Lo

-

1 \
! 1
1

' |
\

small_c4 S5 big |
/
\

N ’

Too long _Too Short

- \\

// \\

U \

/ \
M-A i / |
1
M-B N ! !
/,l 3mm )

i @ _s_-\ /

! z= \ 4

i \
M'C @ & \\\ //,/




